EARAROBREBRT —5 XN—ZXBISH—F 2021E128168H () 10E1 11548

m@mug C1 YSZ—% BRI
[xE<%] 1% :1,200,000 3 . 23 :480,000 .~ 33&:300,000 43&:180,000 9 . 5 & :120,000 /3
B®RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
TN RHEZ 1= - JURE (111)
1 3| YvvA # 3 | FER 524_? 1-1-1 |37 1 ?556) A
RV—=FHISHY BEFURo—3V hlll SR
23— 4 4 | HBED 54.9 2-2-2  |37.3| - 3 433 | SIEAEE (1115)
2 gl EAYTL—D #c55.0 a1/2 (o) | EEE
RiIAYVTSwya BeAYRU—LA YHAORE
r S~ t 3 | B3R 55.1 3-4-3 | 37.4] - 4 | 463 |teEE ()
30101 |73¥X12—b i 54.0 0 te) | B 57 2Kk
R:FAAIU—bFry b BiXAI—) EEHIS
. SERRL -3 - 2&xFH (11IE)
algln| TZFUTIL—2 %6 | o8 5(52.)5 6-3-4 |37.8 7 fzg;s e WL
R:N40 #B:HYTILT patlastave
y <~ = v 3 | EFHEKRE 55.7 11-9-10 |37.4| - 6 | 489 |LUPEfE (ofE)
5|8[11|F1AIYT A 5.0 M e | ME
RIN=YISA B:RAA/TY e
S, B 4 | GESE 55.8 876 |37.7| -— 2 491 | /\KIEE (I1IE)
617010 X371 A52.0 @p) (6) | R
RUTIWAVIRT N BiAY RU—XOF 1 — KIS
SIS # 3 | BRE 55.8 6-5-5 [38.1| — 8 | 503 |KEFEE CAEF)
7 2| /=TT —hk 56.0 @) “1 SAE
RIIRART—ILYF— B:bRA—F SyE—Hs
sl 7| TLDYARY v i3 | L sl 10-11-9 |37.9] - | 5 ig? Luisiits Ol
RU—=FHISHY B:7VFLI— =YY T 7—L
= v o5 | BERE 56.4 9-8-6 (383 — | 12 | 459 |HEBE— (&)
N 4 | ST RAFNY 5.0 75) (o) | KRB
R:EVFOYVY BIVPIAYFPVF Rait HIE
\ i 3 | BLS 56.7 5-12-12 |38.4| — | 9 | 483 |EFHIR ()
10/5|5|YIXbD 40 @172 Gy |
RiNSYEYR BUYp—ILY—/N\— exle
HEEE ) -6- Al - WIESE (115)
nlsle URNUVIA R 4 5 *SO.OE 5(61)9 4-6-8 39.1 10 (4_429) #EEE;EE &
R:0—RAFO7 8:IA LF4R7/N—k TFATAT7—Ln
I = . 5 | PEEBA 57.4 12-10-11 |38.7 | - " 501 | fEEEERC (1IIE)
120719 | XY TRAT4T—h # 56.0 @ 1/2) (+4) # ViridianKeibaCl
R:F4—=FITUVSVF B:IN-TL—X A
@ 1—F—&BIEL
13—7—
20—3F— 3,8,1,6,5,(2,12),10,4,7,11,9
30—+— 3,8,12,1,2,6,10,4,11,9,7,5
40—7+— 3,8,1,12,2, (4,10),6,7,11,9,5
o ILRE
B s 3 20H| [ IA R 3-8 300/ % 3= 3-6 500/ 3EE 1-3-8 1,290
B B 3 120/ 1-3 310 B 3-6 930M9 3&EE 3-8-1 5,130
8 170/ 1-8 840 F5 E 3-8 7809
1 220/ == 3-8 1,140

ABIC OV TRUTEREERRODDZE. THRIIZEL.



